Uncertainty type Directive Inputs Multiplicative factor, f(v) p(y;v) Default values

Log-normal 1nN kappa el N(y;v,1) v=y=0

(kPov) " if v < —0.5,

Asymmetric kappaDown,
1nN (V)" if v > 0.5, N(y;v,1) v=y=0
log-normal kappaUp own
& e KPP 1) Giherwise.*
Log-uniform 1nvU kappa KY Uy 1/x,x) v=y=1(x+1/x)
Gamma gmN N, alphat v/N Py;v) v=N+1,y= Nt

*K (kPown xUP, ) = 1 [41n (xUP/&Po") +In (kUPxPOWN) (4815 — 401 + 15v)] ensures that the multiplicative factor and its
first and second derivatives are continuous for all values of v, and reduces to a log-normal for gPown — 1 /4Up.
The rate value for the affected process must be equal to Na.

The default value for the nuisance parameter is set to the mean of a gamma distribution with parametersx = N+1, A =1,
as defined in Ref. [20].



